ID:1210

[¥ v H5l] KK TEHBOEmMFERSI KR >> (BlA)
mEFREFREKEAS
4 F1034£ 058 07 H ek E: 84 kb v
g 4 EE Mt = H & %% E= = fE A 7 fE

Y=—0rFX 7= M 4.00 6 24 756



ID:1210

[ 48 >t B 5 ]

A F034 058 07 H

T 2

oy

MRS )=
)
1

& ey DI ov At
94
4
—

B} ooeHIN
[ WERMER Bkl B oeebok

I

v ]

CPHEH N SRR )
[\

K FEHBOEFZERBRE >> (BliA)

R

it

m #em
e = ¥ 9 8 50 A E A

Y K 3% Tk T 5% B R Db S T A 2 R R i Y 38 o i

WHERER=EIFREH= =

e

~—

BREE

iz

=
B

10.

—
[Nl

—
OO OO PR OOOUTINDNDWOIU BN WO

=
JG

E]

18 %

150
1,344
1,140

77
325
19
4

218

101

360

551

80
53
39

8
29

160

649

354

15
315
220

48

6
6,800
1,200
150

84 ~

ER=

1,500
16,128
228
231
325
95

16
436
404
1,440
2,7bb
400
159
78

16
145
1,600
6,490
3,540
60
1,260
1,320
288
24
680
240
30

MERRERKNS A

864
1,080
1,296
1,080
1, 296
1,512
2,484

2,160
3,456
1,080
1,620
1, 080
1,512
2,160
2,160
3,456

151

45

82

FE

720
332
77
1,354
469
1,549
1,404
700
889
993
859
1,098
1,284
2,132
1,296
1,963
2,386
892
1,012
936
705
1,814
2,102
3,348
115
45

59

= &

648
32

76
1,080
270
1,350

540
756
486
529
864
864
1,404

1,080
864
324
324
864
432
972

1,296

3,240

65
43
44



ID:1210

[¥ Y B3] K FEFBHOHFTERARE >>> (BiA)
AR REREKEXNS M
4 F1 034058 07H 150 8 8 & 15k »
5 4 E M =ll=! 18 % X o = B HOE Z B
5 U HF & 10. 00 34 340 4,320 3,024 2, 484
TaFI— = #&# 10.00 1 10 3,078



ID:1210

(48 %+ B 51 ] KK EEHBOHERRI >>> (Blk) -
wmEFREFREEKEASH
4 F1034 058 07H TR E: 15+ »

i £ EE M == & £ E = E FE Z fE
L E v TAUH  17.00 37 629 6,156 4,875 4,762
5 U F & 10. 00 64 640 4,050 3,949 3, 780
A lvalva 7 4 U 13.00 6 78 2,268
HER S = M 0.27 600 164 378 327 281
S HhoEIE I 0.25 3,207 806 486 343 162



KEMATEZEBHR (BER)

2035870 wAmE 10 kv (EAOSMEMH, Ke)
T DRG] e

s = R R TR — T B

EB| BE|SE T o gz @D 2B E] 2 B] & 6
SREn | R0 | 541 147 1.080 645 | 394 | 1.300 55
S0 | ® B | 742 742 | 1.000 300
B=5 | X & 50 52| 1.080 648
05 | & B | 178 55 [ 2502 648 | 126 | 2200 770
poEsnn| & B | 104 62 2014 324 | 42| 2500 450
B & & & 50 50 1.700 300
T 0 & & 56 55| 540 581 1 K
= | & & | 228 70 1,620 7188 158 | 1.600 800
BFEC (R
D=7
50| % @ o8 77 [ 6480 2600 11| 5500 2,300
=
®) Iz i F S) 6 | 18,000 17,280
BFE<0 | F = 75 75 [ 1,500 1,300
B0 | B & K Z1 ] 1.000 550
Llam | B & 10 10 700
% 2| & @ 15 15 | 3240 380
X 8= & 5 5 1512
h =& B 105 705 | 1,620 518
5 0| & = 20 20| 1.350 7188
SE=Z| B B 5 5 1,836
WO LU B M 70| 750 234 108
NHC | ® B8 245 245 576 543
DHC | B H 38 35 [ 1,080 702
% L | F0RL 50 20 810 39| 700 500
= @I | = 2 153 70s| 648 338 | 45| 650 200
= A F
hob | B & 53 53] o2 918
Fa3o0n| B H 20 20 1404
FALD | W O 36 36 | 3570 1044
o0 | X o1 5 918 86 [ 1,090 790
=555 | BEe 78 18 1,650
=5h0B
NEED
=n5 | & B | 738 2591350 864 | 479 850 750
<ZE<5
DA S
=D 7 708|108 1728
BEATHD
=00 70 20| 1,620 700
BRNAD g 8 1163
BE=R0 70 20 1,750 1102
/'D E (__
s 7 70 10 5106
5 D IC
G ) 80 | 1,100 640

T 1 PEIHBO1 DDBE

10,278




IKEMARZEEBEHHR (D0T)
SHI3F5R7H  sms wAmg 13 kY
R el wln =[fl=RlgoFylle ale ua s fRl Fory
50O, EE A [2.960 |kel1.944 980 | [hIc & ke
WA /) Lb3a /]
JNZ0) Il gTHIC /]
WHOLETF I} A DS /
BED I EANA) T
Z O|% B[ 10]|n 2,700 B2 Ic /]
LWOLAF|[ R D 51n 1,248 BEDE /1
S2HAF| AN 12 [n 1,404 GpEC| 88 5171 4,968
eEnF(+ = 20 |1 2,500 =g /
shFuF|fe 8| 12 [1][1.400 1,150 | [erzvn| & W] 204 [11]1.800 900
F L 1 BT /
Fuonw| & Bl 20 | 1,000 BT 5| 96 111512 1,150
gikgan|Mm o] 10 |n 7,560 BT /]
HEEC| X Bx| 210 [1[2280 500 | [[BE0F 1]
5 <Dl _0O[1,330 [1/]1,461 432 | [mrao7 1
BRE X T BSAE /]
EFHN0L) 1 BFXT /1
+=9 T | OF] 128 [ 1] 952 375
FIERE I} BRF I
pEsAE|E F 9l 594 BBA F I
BE=n |58 27 |in][1116 648 W< 5 1
EEnzg|8 B[ 15 |n 1,152 SRICUA /]
2L 0¥ T ENEES ]
Z2HJGE 1)
zrs00on| 88 19 [1,200 [1]1,620 500 | [ZofE 6,539 | 1
& & 12,872 |kg




IE=E ZEHR SH3ESATA (£)
AR E (Y)1E-U15) 285,310 A&
+ ') H 35| H xt E 5l
g TEE | BAE| A% | BE | PE | RE | A | 5E | PiE | ZE
£ Pk s 48340( 9040 55 31 10[ 39300 90 40 0
H—x—3> B A 35491 8445 100 51 10| 27046 200 63 0
INGg Pk G 28350 13450 30 8 1| 14900 45 16 1
SP#H BA 25820 8480 40 17 2| 17340 70 43 5
SPH—= RIGE 24752| 11948 70 39 5| 12804 126 65 0
ARA—F R MILE 11930 1480 50 31 15[ 10450 80 42 10
NS EER 9602| 2710 110 66 35| 6892 200 123 30
MLafxEan EER 5965 1150 251 162 45| 4815 472 221 50
EXRUAL BA 4933 640 70 52 40 4293 115 69 40
LY —D7> BA 4230 2430 45 29 15 1800 63 43 20
HB1!) KBR AT 4170 615 330 139 130| 3555 950 232 66
a4 % BBA 4100 1150 40 37 30[ 2950 94 46 20
TE A 3900 290 130 69 2| 3610, 1575 351 0
P/ mER 3680 600 110 90 80[ 3080 200 120 55
Thx A 3104 10 800 800 800 3094, 3750 855 17
F>t7 A 2980 1500 50 33 15[ 1480 83 58 5
SP/I\S RIGE 2330 425 200 107 70| 1905 230 152 65
AFa970I7VITYR) EA 2276 699 100 30 10 1577 112 68 10
E<7 FLR 2160 360 70 54 30 1800 85 67 50




